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7.5-7.6 Review
NG 5o v s
olv >
Wua‘mn using same bases.
32y % 2. 2527 = 625 3. 9% =27
2_ :2 52—(2(\*!3: 5“ 32_.2_,(‘33
[ﬂ _ 2(2nary) =4
x="3 Unty2=4 2-2x=3
X= S/I.P “Hnz 2 L4x =3
T N =y x =3/4
—4—-£§__‘_’§h €quation. Round answers to the nearest thousandth.
lop 1520 B4 5. 8%1=3 10§ g™ =10§3 6. 4 -5=12
= 245 Cnn)h% 8=|053; ,__rx:,._]
(2n-3)o als =¥0A4 245 Nyl = 1093 [oay > =107
1o0q15” ) 'S losg’é 8‘4"]0 15
2n-3=2.03) Nt =0.529 x 10 1=103 Ly = o Ayt
N = 2.5 N=-0.472 10g 1 ‘oﬁk'

7. The equation ¥y = 281(1.01)*

" is a model for the population of the United States y; in millions of people, x
Years after the year 2000. Estimate when the United States population will reach 400 million people.

HZ—C,ZQ" Q31 (1o~ [.42.3=).01% l0g I.Y23 = 5%
A 1 |03\-‘125: IO%LDIX Jo¥ 1.0)
|0g \42,3':)(]0:31)‘,01 gS.L{. bemm 24:}?)5'_
Solve each equation. Check your answers. M 2030
& log(x —25) =2 9. 4logx =4 10.8logx = 16
ﬁloo:x_as %' =4 ’0 X =2
10 =X
jOO= X

11.3log(1 - 2x) =6
= 3

12.log(2x+5)=3

13.log(3x —2)2 =3

= - I07=a%x+ & 3. S
\-ax ) = 0= (3%x-a
100, ) 1000 =9x4 9 ﬁlaoo 2@),9\3
V) = |-9X% = -0 1995 = ax 2. (p23 =3x -a.
100 =|o* > | a%5 |
99 = —2ox s N.oo# = x
Solve each equation.
14.logx :Xl-ogﬂ, =3 1;5.2 logxl— 1|0g4t{= 2
10 =3 X" -1049 “o = 26
,059 ,:’ )08 il 53 .
= X 5 B
ke 102 2 X =ao
m_x L,(OO :X3
16.log3x —log5 =1 17.log(x + 21) +logx =2
\0 _3/1_-,, IO%x(xfaa):a
=] o BT SD 8 2
" % X % 3)x ~100=x X= ¢

| 50=3X%

(X 405) (X ~4)

ext

X =-25 )(:L.l.

-
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18'-([2;'%5“”&0“ ¥ = 1000(1.005)* models the value of $1000 deposited at an interest rate of 6% per year
005 per month) x months after the money is deposited. b. SOCDO=1000(1.005)
4 E- PrEd!ct how many months it will be until the account is worth $1100. 5=1.005 "
Qa. O Predict how many years it will be until the account is worth $5000. wo s
00 ooV 605) ™ 10g.1:1 109 1.005 oo 100
: I_léc’l‘_’gosx . oo 1. 605 X=37—2.'7m<2r’1+h5
19.55 : : _ X =19.T months =20.9 years
. P‘E:O&‘»f_:i you deposit $2500 in a savings account that pays you 5% interest per year.
- How many years will it take you to double your money? lo- % eNE
b. How many year will it take your account to reach $80007? Food ‘QSD,CO (.05
Q. 500 =55T 1‘05>" 32 ~1.08 t
& =\Los? LQI%O%:X Jog 2= /ogl.oé
log &= log )1.08* 199, fggg_a - B
’ %X =14.2 y<avs =l =X X =23.8
Write each expression as a single natural logarithm. i d
20.alngd —Inb 21.11n9 +In3x 22.4Inx + 3Iny
n4 "Y\‘O 242 4
y & na “+indx \ﬂx 3
\Y\ b N J-3x D
- 10 I
23.§ln?+lnx 24.3In3 +1n9 25.21n4;1n8
A Y 5 3 2
N3 2 WX n3%rn 9 LT
In 77
n 22X In pam
\ w3 lnak
Solve each equation. Check your answers. Round to the nearest thousandth.
26.4Inx = -2 27.3 — 4In(8x + 1) = 12 28.7In(2x +5) = 8
£ ooy In(@x41) ="V« \ng/z><+5)=3/7
\Y')’X’ = e‘q'tgxr | e’z oxr s
Pi=x . X =0.U0U T e 3. \13b>ax15
X==0:112 X==-0.923
29.Ine* =3 30.InZ =2 31.3Ine?* =12
X b= 3 e.;_“a, Ine?*= 4
X':'—E) —y"-_l:T =15).47 &X‘W:q
1.8 = ﬁ i i (e 4
xX=
Use natural logarithms to solve each equation. Round to the nearest thousandth.
32.eX% =2 335’;3\96";3 =01 34.55L 3
ne’ =1n2 B i O Ine*s -|naa
(x-DIn€=Iny In e“"' 7= |n. o> X\pg = In32
% -4 = 0.093 (=t 3w = In. 0> X
35.e'“5’;= 20 N 5X =2.09¢ 36:6 - el?* = 52 37.5:267 +5=1
\ W% 20 2.0ay e'?> 0.% i = -
ne = o = BX K¥x =0.019 Xt —a)
AN 5X I=IN20  2p= 5X Ine =In0.¥ Ine* "= Int q‘
=4 ot = 1n0.% N oluhione
Simplify each expression.
38.Ine* 39.5Ine® 40_1_“59f Lot 41.Inet?°
YipL 25lpd 9 |0O Ak
H ) \ |00
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